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QUESTION 1
Which statement about designing a migration approach of an existing Data Center network to Cisco ACI is true?

A. The first action is to connect the Cisco APIC to the existing core Layer 3 routers so that the APIC can begin to be
involved in traffic forwarding.

B. When migration is complete, the existing Layer 3 devices should still serve as the default gateway.

C. The service nodes must be moved first because Layer 4 to Layer 7 services (FW/LB) in the existing network will not
be functional during migration.

D. Simplify the migration by associating every EPG to a VLAN.

Correct Answer: D

QUESTION 2

Which type of ACI switch provides Layer 3 connections to outside networks?
A. border leaf devices

B. leaf devices

C. spine devices

D. service leaf devices

Correct Answer: A

QUESTION 3

Which statement about a whitelist security model is true?
A. Permit all traffic.

B. Deny specific traffic flows, and permit any other traffic.
C. Permit specific traffic flows, and deny any other traffic.
D. Deny all traffic.

Correct Answer: C

QUESTION 4

Which two options are benefits of the ACI fabric beyond forwarding traffic from physical and virtual servers? (Choose
two.)
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A. zero-touch provisioning of fabric switches

B. centralized control plane

C. decoupling of underlay and overlay

D. applying policy independently of forwarding

E. increased performance due to full-mesh topology

Correct Answer: AD

QUESTION 5

Which two options are two provisions of ACI for security? (Choose two.)

A. Security services are provided by the fabric, without the need for external appliances.

B. ACI depends on external appliances and software to provide security.

C. ACI provides a stateless whitelist approach for all traffic in the fabric.

D. ACI allows for easy integration of external stateful physical and virtual security devices into the fabric.

Correct Answer: CD
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